asym_usl

asym_dsl

asym_usr

asym_dsr

run6980 000 regression-asym main

5000 —

5000 —

Lo lv v by
ﬂ}DDU_m 20 0

diff _
1000

500

=500

=1000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIII

20 40 60 80
diff_bpmXum

[T I T B A B
—1500_‘“’ 50 0

8000
G000
4000

2000

=2000

=4000

-6000

~8000 -

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

20 40 60 8o
difi _bpm1Xum

| I B B A A
1ﬁﬂﬂﬂ_m 50 0

1000

500

-500

=1000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=1500

20 40 60 80
diff_bpm1Xum

—12C

—10C

20

—10C

20

—12C

—{10¢

20

—12C

—100

20

10000
i —100
5000 30
u_
~5000 -
1'DDDU _I L1 1 | L1 11 | L1 11 | | I | | | I | | L1 11 ﬂ
=30 20 10 0 10 20 an
diff_ bpmdaYium
(!jfL
| I _B'D
- —{70
1000
. . —lan
500
o
- n
: [ |
=500 — u
~1000 -
- 10
B |
_I L1 1 | L1l 11 | L1l 11 | L1 11 | L1 11 | L1 11
~1500,43 20 10 ) 10 o0 3p ©

diff_bpmda/um

10000
] —{12¢
=000 B —100
I 80
[' -
I 60
I 40
~5000
I 20
- .
1'DDDD ] | | 1 11 | 1 11 I 1 1 1 | 1 11 | 11 1 | 1 11 I 1 11 ﬂ
40 -20 O 20 40 60  BO 100
diif_bpmdeX/um
(!jff_
| I
- . —
1000 1ot
i ]
500 |- - 80
- N
1] — J 60
~500 - [ | 40
=1000 [~ 20
B [ |
_ 1 EDD i | | 1 1 1 | 1 11 I 1 1 1 | 11 1 | 1 1 | 11 1 I 1 11 ﬂ

40 <20 1] 20 40 60 80 100

diff_bpmdaX/um
daft_

- . - I
8OO0 : N —80 8000 - —12(
ol = "
5000 | - 6000 |
- m n —{10r
4000 | 4000
- —&0 -
2000 2000 80
of o
N K B0
2000 ~2000 |
~4000 5 ~4000 40
~6000 |- 20 ~6000 [
N N 20
_8000 10 -8000
n m u g | u
11}000_""llllll"""""""""' 0 1EIDDD_'|"'lllllllllllll"""'l"' 0
30 20 10 ) 10 o0 an 40 20 0 20 40 60 BO 100
diff_bpmda¥ium diff_bpmdaX/um
d. d
1500 |- — —7p 1500 [~
- N —{12¢
1000 {60 1000 |
- . —{100
5{m:— —°0 500 :—
- - —a0
o o -
_ C m 60
-500 [ S0 g
- - 40
1000 [~ 1000
B 10 B ]
- E N - EE
~1500 | ~1500
_I L1 1 | L1 11 | 1 1 1 | 11 I_|_| | I | | L1 11 B
-20 -ml

detvs diff bpm=€

5000

= 5000

10000

1000

500

=500

=1000

=1500

diff _ hpmélcY

8000

G000

4000

2000

= 2000

=4000

= 6000

=B000

10000

1000

500

-500

=1000

= 1500

L.Z postpan.png

20 10 0 10 20
diff_bomdeY/um

=20 =10 0 10 20
diff_bpmday/um

20 T 0 10 20
diff_bpmdaY/um

20

10

10

120

101
2000

=5000

| I 1111 | 1111 | 1111 | 1111 | 1111 | 1111 | 1111 I 11
10000 ~550 —180 -100 -50  © 50 100 150
diff_bpm12X/um

1000

500

-500

"

=1000

v by by b s b s by byvaa b
=1500 -200 =150 -100 =50 0 S50 100 150 o
diff_bpm12Xium

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIII

—14L

8000

—1&C
6000

4000 — 100

2000

=2000

=4000

~6000

~8000

=
II|III|III|III|III|III|III|III|III|III

Colvvor bevrr bvwnabvv v bovra b bvvra b
o000 200 <160 100 =50 (1] 50 100 1RO

diff_bpm12X/um
diff

1500

1000

200

- 500

=1000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=1500

v e v b b bvvna by By 0
-200 -150 -100 -50 1] 50 100 150
diff_bpm12X/um



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run6980 000 regression-reg main

=1000

=2000

=3000

-4000

-40 =20 0 20 40 60 80
diff_bpmXum

1000

500

=500

=1000

o

=1500

~40 =20 1] 20 40 60 a0

4000

3000

2000

1000

=1000

=2000

=3000

-4000

difi _bpm1Xum

-40 =20 0 20 40 60 a0

d'
1500

1000

500

=500

=1000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=1500

diff_bpm1Xum

—100

20

—{ 10

20

—100

20

—12(

—10¢

20

=1000

=2000

=3000

~4000

=30 -20 =10 1] 10 20 a0

1000

500

=500

=1000

=30 =20 =10 1] 10 20 a0
diff_bpmda/um

4000

3000

2000

1000

1000

500

- 500

=1000

=1500

diff_bpmda¥ium

diff_bpmda¥ium

IIII III|IIJ_||IIII|IIII|IIII

0

10

0

10

idet“vs diff “Bpr-€

4000
n —108
3000
2000
~ _E'D
1000
o 60
~1000
- 40
2000 |
~3000 |- 20
~4000 |- u
[ 1 | 1 11 | 1 11 I 1 1 1 | 1 11 | 11 1 | 1 11 I 1 11 ﬂ
40 -20 O 20 40 B0  BD 100
difi_bpmdaX/um
I-
1000 - e
500 |- 80
- N
ﬂ:‘ 60
~500 [ 40
=1000 [~ 20
B [ |
—15':“:' i | 1 1 1 | 1 11 I 1 1 1 | 11 1 | 1 1 | 11 1 I 1 11 ﬂ
40 20 0 20 40 B0  BOD 100
difi_bpmdaX/um
l
: —12¢
4000
3000 - —10¢
2000
- . —80
= |
1000
oF 60
1000 -
- 40
-2000
-30p00 20
- n
~4000 | u
v trvr v brrr v bvrr by 0
40 -20 O 20 40 B0  BD 100
difi_bpmdaX/um
d .
B I |
1500 [ 1
R [ |
1000 —10(
500 |- o
ol
- 0
|
N [ ]
500 -
- " 40
000 g
B [ |
= . u
~1500 _—

= 1000
= 2000

=3000

I |
4000 -

20 10 0 10 20
diff_bomdeY/um

I'.i'-.

1000

"I

500

=500

=1000

|
_1EDDII|IIII|IIII|IIII|IIII|III

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIII

=20 =10 0 10 20
diff_bpmday/um

diff _ _hpmélcY

4000
3000
2000

1000

= 1000
= 2000

=3000

=4000

20 T 0 10 20
diff_bpmdaY/um

9-.

hpméleY

1500

1000

500

=500

= 1000

= 1500

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-20) =10

-~ postpan:png

10

10

4000

3000

2000

1000

=1000

=2000

=3000

-4000

=
IIIIIIIIIIIII|IIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

| I 1111 | 1111 | 1111 | 1111 | 1111 | 1111 | 1111 I 11 ﬂ
~200 -150 -100 -50 © 50 100 150
diff_bpm12X/um

1000

500

-500

=1000

v by by b s b s by byvaa b
=1500 -200 =150 -100 =50 0 S50 100 150 o
diff_bpm12Xium

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIII

4000

3000

2000

1000

=1000
= 2000

=3000

"

plovvaberrr bvwra bvv v berra b b ra b
—Eﬂﬂ 160 100 =50 (1] 50 100 1RO
difi_bom12X/um

~4000

91

1500

1000

200

-500

=1000

=
|IIII|IIIIIIIIIIIIIIIIIIIIIIIIII

=1500

ol b b b b b by By 0
-200 -150 -100 -50 1] 50 100 150
diff_bpm12X/um



asym_usl

asym_dsl

asym_usr

asym_dsr

%

bpm1X

%2/ ndf

3000

2000

1000

-+

18.14 / 26
p0 2.553 + 22.826

-38.99 £ 2.66

NM

=1000

=2000

=]
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=3000

-40 =20 1] 20 40 60 80

diff_bpm1X

¥2 / ndf 26.17 / 26
po -3.698 + 3.757

p1 0.1529 + 0.4328

o]
=

~40 =20 1] 20 40 60 80

diff_bpm1X

¥2/ndf  17.99/26
p0 —15.3 + 22.7 "
p1 94.68 + 2.66 M_
L]
2000

—_—

=4000

—_—

=6000

_IIIIIIIIIIIIIIIIIII
—_—

~8000 NN T T N T N T S O O O O O

-40 =20 1] 20 40 60 80

dlthpmlL

%2 [ ndf 29.77 1 26
po 0.9082 = 4.0352 )

p1 0.4032 + 0.4687 } {

=200

~400

- 600

-800

IIIIIIIIIIIIIIIIII
—_—

run6980 000 regre

21’6881011 asym main

diff_bpmdaY

22 / ndf 44.4 | 43
p0  -2.184 + 19.758 W -
p1 162.14 3.3 w _
ol
-zﬂnn_— - [MH
L
4000
_|||||||||||||||||||||||||||||||
=30 =20 =10 (1] 10 20 a0

°1

800

600

400

200

=200

=400

- 600

iff bpmdaY

- ¥2 / ndf 45.4 / 43
- p0  -4.846 + 3.748
- pt  -1.626 % 0.623
g i

- ' { t H + |

+I L1 1 | 11 11 | L1 1 1 | 11 1 1 | L1 1 1 | L1 1 1 |

=30 =20 =10 0 10 20 a0

diff_bpmdaY

%2 / ndf 39.72 /43

PO —12.18 + 21.66 HM

pl 167.2 £ 3.6 |} } k-
£

_2000 |- M‘M

4000 ‘M

6000 |- 1
IR NN AN RN RN
=30 =20 =10 1] 10 20 a0

:
%

G600

400

200

=200

- 400

- 600

1
1
| I
—_—

1
—_
—

IIII|IIII|IIII|III_|_|IIII|IIII|

%2 [ ndf 54.57 / 43
p0 ~0.883 + 4.049
pl  —0.5453 + 0.6638

-2{) ~10®

=

di

bpmdeX

diff_bpmdeY

- %2 / ndf 30.17 / 26 y2/ndf  §4.49/ 46
2000 ~
- p0  -2.256 + 23.004 p0  -2.46 + 18.91
e - { } p -27.95 + 2.48 p1 183.9 + 3.2 | A
ﬂ:_ i Hly
- h { 2000 [~ t }
~1000 | ' { oF
[ } Tl - =200 o }
= 2000 [ E {H-M_H h’r
i 4000 - Hl
~3000 |~ -
;IllllllII|III|III|III|III|I_II ‘E"DDD:FI-IlllllllllIIIIIIlIIIIIIII
=40 =20 o 20 &0 B0 Al 100 =20 =10 0 10 20

diff_bpmdeX

%2 / ndf 21.8/26
po ~-3.469 + 3.761

pi 0.1855 + 0.3985

1]

200

=
o
. ,

=200

ST ) TS N N I A BN B A I AR

40 =20 1] 20 40 60 80 100

diff_bpmdeX

2indft 4262726

PO -14.64 +22.25 ”h

p1 94.83 + 2.40 HH}

-Eﬂnnf— b

_mnnf— }W

—E-DDD; |
-aﬂnn_—||,,,|,,,|,,.|...|...||||I|||

-40 =20 1] 20 40 60 80 100

diff_bpmdeX

12 / ndf 21.87 /26 B{}D:_
p0 0.9219 £ 4.0410 { ﬁ - Ei}D:—
p1 0.3489 + 0.4308 { ‘“3"3':‘
-200 :_ ‘ w ) 200 _
~400 f— } o
00 E_ - 200 —
~800 f— ~400 _

det vs diff bpm-fit postp

91

iff _bpmdeY

Boof- - 2indf 4039/ 46
600 [~ p0 -4.197 +3.739
a00 |- pl  -1.334 +0.642
zﬁnf— 1

i M
-zm:uf— i
-mnf— _
'Em:_...|....|....|....|....|.'..

-20 =10 0 10 20

diff_bpmdeY

%2 / ndf
p0

p1

62.62 / 46

-22.55 + 20.88

189.4 £ 3.6

= 2000

=4000

= 6000

—

=
_-:.EEL_':

=20 =10

iff _ bpmdeY

T—

1] 10 20

1= ndf 401 /46
po -0.1123 = 4.0334
pi -0.4681= 0.6778

10

an.png

=
:

4000

2000

= 2000
=4000

= 6000

po

pi

-I-lIIIIIIIIIIIIIIIIIIIIIIIlIIIIIII

%2 | ndf 31.69 / 42
po 5.899 + 13.810

p1 -38.22 £ 0.35

" *M

200 <150 -100 -50

diff_bpm12X

12 [ ndf

39.55/42

—4.988 = 3.754

0.1238 = 0.0963

100

=100

-200

=300

8000

6000

4000

2000

=2000

=4000

~6000

8000

1] a0 100 150

200 <150 -100 -50

1] 50 100 150

%2 / ndf 44.6 / 42
p0 -4.421+ 13.700

p1 ~43.04 + 0.35

+hu

m_
e

£

600

400

200

-200

~400

- 600

0 =180 100 -50

bpm12X

1] 50 100 150

[ w2 | ndf 43.84 [ 42
. po -0.024 + 4.022
N p1 —0.12083 £ 0.1016
:—IllII-I|IIIIIIIII|IIII|IIII|IIII|IIII|III

200 =150 -100 50

1] 0 100 150




reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run69380 000 re

%

2000

1500

1000

500

-500

=1000

=1500

diff

500

400

300

200

100

-100

=200

=300

diff_bpmlX

7=/ ndf

1000

500

-500

=1000

=1500

=2000

-2500

p0

bpm1X

7=/ ndf

2505726

7.594 £11.788

-0.2342 =+ 1.3648

VMH

[ T—
[ E—

_|IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-40 =20 1] 20 40

p0

p1

_bpmlX

1=/ ndf

60 80

26.36/ 26

—3.736 £ 3.755

-0.1845 £ 0.4327

Wﬁww

-+
-
.

~40 =20 1] 20 40

p0

60 80

20.39726

—-8.817 £ 11.687

—-0.7386 £ 1.3513

ety

-40 =20 1] 20 40

60 80

dlthpmlL

p0

pl

%2 [ ndf

29.78 / 26
0.9617 = 4.0350 )

| {

0.296 = 0.4685

=200

=400

- 600

-B00

LI I LI I LI I LI I LI
—_—

-40 -20)

%

bpm4aY

- - 2500
o - +2 [ ndf 45.51 / 43 :
; 2000 |~
2000 po BA411+11.727 :
: 1500
i pl  -0.1246 + 1.9367 -
1000 [~ I 1000
ok HHKJ bt - 500 -
- + + :
i ) } + N o
~1000 |- ol
: ~1000 |
~2000 |- :
:I | I | | L 111 | L 1 11 | L 111 | L 1 11 | I_I 11 | _1EDD __

30 20 -10 0 10 20 a0 -

°1

iff bpmdaY

iff _bpmdeX

7= /[ ndf 32.757 26
po 6.56 £11.78
p1 -0.8192 £ 1.2537

NF

I

BOO—
- w2 f ndf 45.33 /43 - 2 { ndf 21.93/ 26
GO0 _ - i
i p0 487 +3.75 400 p0 —3.511+ 3.760
400~ p1 —0.4442 + 0.6232 I pl  —0.08911+ 0.39842
§ 200 -
200 _— } | - ‘
- | ﬂ{ + i | ]
ok - I }
- { t e o || ‘Wh{ |
—E{FD:— | - - +
I - o0 ]
400 _— B
_EIDD_III||||||||||||||||||||||||||| _mnl_lllllll||||||||||||||||IIIIII
=30 20 =10 (1] 10 20 an 40 20 (1] 20 40 &0 a0 100

diff_bpmdaY

%2/ ndf 43.71/ 43

p0 -5.678 + 11.642

p1 1.592 + 1.902
500 N [
£l W@g " %W.W* ‘N
; 1 }
500 ) | } H‘ i
_mnnf— _ }_
_15[][];|—||_||||||||||||||||||||||||||||
=30 =20 =10 0 10 20 a0

diff

_bpmd4aY

diff
1500

1000

500

-500
=1000

=1500

= 2000

_bpmdeX

—_—

*2 /ndf 2818726
po —7.194 = 11.689
p1 -0.9891+1.2376

I

_bpmdeX

I

800 |-
L - 2 [ ndf 54.9 /43 12 / ndf 21.76 /26
o0
i p0 —-0.841+£ 4.049 po 0.9711 £ 4.0407
400
B p1 —0.3497 £ 0.6636 pl 0.2328 + 0.4308
200 - } - i '
. I H w } -200
- _ .I. - :
er # 1& i
C } f } 400
o | At
N ~600 I~
=400 — i
i el
—B00 i
-l L 11 I L1111 | 1 111 | L 111 | L1 1 I | | I | | 1 1

oression reg maindet v

s diff

E_

IJ_IlIIIlIIIlIIIlI |||||||
—ED 100

f poS

diff_bpmdeY

2000 ¥ I ndf 42.14 1 48
i p0 9.493 + 11.729
1000
I pl  —0.01678 + 2.01287
- { 1 } k] |
or } th P ﬁM
= 1000 _— }
= 2000 —
111 I 1 11 1 | | I I | I | I T | | 1 1 1 1 I |_| |
=20 =10 0 10 20

91

iff _ bpmdeY

L H T ol
- 72 { ndf 40.43 [ 46
oo™ p0 ~4.218 £ 3.739
4001~ p1 —0.1082 + 0.6422
300 — M
F i i
=200 :— -
— 400 :—
_EIDD—I_I | I | I | | L1 1 1 I L1 1 1 | L1 1 1 I I_I |
=20 =10 1] 10 20

diff_bpmdeY _

35.99 /46

%2 / ndf
p0

p1

-89.282 £ 11.653

0.6728 = 1.9782

=500

= 1000

=1500

|||

[ T
1

Ty

=20 =10 1] 10 20
diff_bpmdeY
m:_ %2 | ndf 40.35 | 46
600 |- p0  —0.07107 + 4.03321
400 |- p1 ~0.3397 + 0.6777
zﬁnf— )
of - | J«%mwuﬂ }
: i ]
—E{?D:— B
-:ml::uf—
:|||I||||I||||I||||I||||I|||
20 10

tp

an.png

diff_bpm12X

Pty

%2 | ndf 33.3/42
p0 9.835 +11.736
p1 0.345 + 0.295

o ﬂ
=000 _—
2000 :—

200 <150 -100 -50 1] a1

diff_bpm12X

¥2 / ndi 30.45 | 42

pd 5014 £ 3.753

p1 0.007955 + 0.096261

U ‘

100 {
: _+{ !

oF byt
: { Hi

~100

~200

~300 F -
1I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

p0

p1

o0 150

200 <150 -100 -50 1] s 1

diff_bpm12X

¥/ ndi

0.008427 + 0.293503 +|| ||||+ |||||][}

44 35/ 42

-5.525 + 11.631

~500

=1000

=1500

= 2000

=2500

%
E

S

400

200

-200

~400

- 600

]

00 150

200 <150 -100 -50 1] s 1

o0 150

43.61 /42

[ ¥/ naf

: p0 0.02102 + 4.02215
5 p1 _0.1414 + 0.1016
:_l||||-||||||I||||||||||||||||||||||||||||

200 =150 -100 50 1] 01

o0 150




asym_usl

asym_dsl

asym_usr

asym_dsr

run6980 000 reg

iff bpmlX

10000 =

2000 —

=5000 [~

10000 L

1000 =

500

500 —

=1000 [~

diff_bpmXum

1500 L

8OO0 —
G000 —
4000 —

2000

2000
~4000

-6000

~8000

difi _bpm1Xum

10000

IE_

1500 -

1000 =

00—

-500 —

=1000 [~

=1500
[ 1

diff_bpm1Xum

ression™

10000

2000

5000

10000

1000

500

=500

=1000

=1500

8000

6000

4000

2000

=2000

=4000

6000

~8000

16000

1500

1000

500

=500

=1000

=1500

diff_bpmda¥ium

diff_bpmda/um

-

diff_bpmda¥ium

III_|_|

=30

—Eﬂ

-ml

SYill maln

10000

2000

=5000

10000

1000

500

=500

=1000

=1500

8000

6000

4000

2000 F

2000 |

=4000

~6000

~8000

10000

1500

1000

500

- 500

=1000

=1500 —

detvs d

0 2 40 60 80 100
diff _bpmdeX/um

1] 20 40 60 80 100
diff_bpmdaX/um

100
diff _bpmdeX/um

IJ_I III|III|II

iff

" bpm=sca

10000

5000

= 5000

10000

1000

500

=500
=1000

=1500

8000
G000
4000

2000

= 2000
=4000
= 6000
=B000

10000

1500
1000

500

-500
=1000

= 1500

t

diff_bomdeY/um

diff_bpmday/um

20 T 0 10 20
diff_bpmdaY/um

-2{)

ostpan”:'ﬁn

10000

2000

=5000

10000

1000

500

-500

=1000

=1500

8000

6000

4000

2000

=2000

=4000

~6000

~8000

10000

1500

1000

200

- 500

=1000

=1500

~200 -150 -100 -50 © 50 100 150
diff_bpm12X/um

200 -150 -100 -50 0 50 100 150
diff_bpm1 2X/um

~200 -180 -100 -50 © 50 100 150
diff_bpm12X/um

-200 =150 -100 50 0 50 100 150
diff_bpm12X/um



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

4000

3000

2000

1000

=1000

=2000

=3000

-4000

5
3
3
5
2
s

diff_bpmXum

1000

500

500 —

~1000 [~ e

_.15[:”:'|III|III|III|III|III|III|I

difi _bpm1Xum

4000

3000

2000

1000

=1000

=2000

=3000

-4000

5
3
3
3
2
5

diff_bpm1Xum

1500 =

1000 —

500 —

~500 —

=1000 —

=1500

run6980 000 regression’r

4000 | 4000
3000 3000
2000 2000
1000 1000
of oF
-1000 ~1000
~2000 ~2000
~ 3000 :— ~3000 :_ .
~4000 | ~4000
:IIII|IIII|IIII|IIII|IIII|IIII :IlIII|III|III|III|III|III|III
-30 -20 -10 0 10 20 30 40 =20 0 20 40 B0 B0 100
diff_bpmdaYium diff bpmdeXium
. *
| I | I
1000 1000
o0 - 500 -
II]_— - II]_—
~a00 ~500 [
-1000 |~ : -1000 -
_.1EDD_IIII|IIII|IIII|IIII|IIII|IIII _1EDD_I|III|III|III|III|III|III|III
=30 20 -10 0 10 20 a0 40 =20 0 20 40 B0 80 100
diff bpmdaYium diff bpmdaX/um
® ®
L I [— I
4000 4000
3000 apoo
2000 2000
1000 | 1000
ok oF
~1000 ~1000 [~
-2000 -2000
3000 - -30p00
4000 - ~4000 |
I T T N e NN T N T T
-30 -30 -10 0 10 20 a0 40 -20 0 20 40 B0 80 100
diff bpmdaYium diff bpmdaX/um
' iff bpmdeX
n — | —
1500 [~ 1500 [~
1000 1000 |
s{m:— 500 :—
ofF - =
500 500
~1000 S TR R ~1000 |
_1500 _1500
_IIII|III|IIJ_| |IIII | II|III|III|III|III

4000

3000

2000

1000

= 1000

= 2000

=3000

=4000

1000

500

=500

=1000

=1500

4000

3000

2000

1000

= 1000

= 2000

=3000

=4000

1500

1000

500

=500

= 1000

= 1500

" maindet-vs diff ' bpm-scat pos

diff_bomdeY/um

diff_bpmday/um

_bpmdeY

diff_bpmdaY/um

L
20 =10 0

pan.png-

4000

3000

2000

1000

=1000

=2000

=3000

-4000

| I 1111 | 1111 | 1111 | 1111 | 1111 | 1111 | 1111 I 11
~200 -150 -100 -50 © 50 100 150
diff_bpm12X/um

1000 —

S00 —

=500 —

~1000 | PRI

ol b beaaa b b baaaa Luvaa by
=1500 -200 =150 -100 =50 0 S50 100 150
diff_bpm12Xium

4000

3000

2000

1000

=1000

= 2000

=3000

~4000

Lovvabvveabvvoa bvv v bvvna b borna by
200 <160 100 =50 (1] 50 100 1RO
difi_bom12X/um

1500 —

1000 —

500

500 —

=1000 —

=1500 —

v e v b b bvvna by By

-200 -150 -100 -50 1] 50 100 150
diff_bpm12X/um




